EARAROBEEIERT — 2 N— IBISH —F

2015518250 (B) 1EI$R4H

R EEEXY

KEF CRE

)

HEE] B

(xwlw | lmEmml - |2 5 oom &

[A~&£] 1 7% 5,000,000  ~ 23 :2,000,000H 33 :1,300,000 " 43 :750,000 " ~ 5 j& :500,000

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N N A :05. -12-13- . . mEHE— (ER)
N MBS E P UPYE 43 et 2(0_5)8 10-12-13-12| 36.1| 82.5 | 6 (1_1:35) i
AL aIH LYY BT RTAAANY — e
e 43 | AKX 2:05.8 13-15-13-12| 36.0 | 82.5 | 1 42 | EZRBF— (FEF)
2|8|16| LT X2 56.0 (NF) © | e1L-v>y
RN—ErTr— BiLYxvZ BAT 7 — L
_ . FEBA : 00— HFHEET (EXR)
HYFZFTL—Z it 3 A 2(.30/54.)9 2-2-2-2 |37.2| 81.5 | 15 gz) ;Ekm%ﬁ
AR TAMIXI By —> FHBSE
¢ . 4 3 | BEKXME 2:05.9 4-3-4-4 |36.9| 81.5 | 5 488 | BE (FH)
NG =t —= 54.0 ) Loy | FETR
LN—E>Tr— B:I Fv> 42Ky fai )
N HHEA :06. -9-10— . . MIRE (BR)
sO75 it 3 B 2(30/64)0 10-9-10-10 | 36.4 | 80.6 | 7 ig;t et
RAATAT v — BUUA HARH /—ZELX
— TALELT .06. 66 N R (TR
2 — TS kL 4 3 e (22016/24) 4-6-6-6 |37.1| 76.8 | 3 (4_820) Udbs
LNNVTSY Biv—TJLE LY — =R %5
N i 3 | A 2:06.4 7-6-6-6 |37.2| 76.8 | 14 | 430 |EF#— (Xik)
7l713| NFAFT 54.0 (7€) 42) | B EvILyET7—L
R:FFHRATFD BNTT7I— MAHEEE
— Sy # 3 | K& 2:06.4 13-14-13-12| 36.6 | 76.8 | 2 40 |BE—%H (FR)
815(10 AT—=I42INT b 56.0 (INF) +2) — &
R:Tdr7—3IUF7> B:I5vY—FKLZR =it e
S . 4 3 | EAEE—ES 2:06.5 10-9-9-9 [37.1| 75.9 | 17 | 450 |REMAE (Ei)
9817 T7ZE7>O-X 54.0‘( (1/2) +2) = EEF
R:zZa—A>75>F B:30¥—av> 48— IR
LR . # 3 | D. /NITa— 2:06.7 7-6-6-6 | 37.4| 74.1 | 4 474 | EEES (ER)
10[5/9| Ly FvEE> 5.0 M oy | ) BEA-aL—31s
x4 agbhyy B:7Re14Y)yF J—YTr—L
. thitia— . 16-16- REE (%#)
1l 7L ru—70- 3 i 2(.30/61.)8 16-16-16-15| 36.6 | 73.0 | 16 (4::32) fsm;ﬁ?g
LV TATHIA LR B RN—o 70— fiigizae]
B3 | et 2:07.2 1-1-1-1 | 38.6 | 70.3 | 13 | 444 |HHIRER (i)
12)1|2|¥—AH—7 252.0 @ 172 o |nH-—m%
RixkIAfO— Bi¥—Lg— TS
i i # 3 | IUE—EB 2:07.3 18-18-18-16| 36.8 | 68.3 | 12 | 476 |=i&se (3ER)
1312 V¥/TLAT .0 (12 Ly |WLEEE
R:d—IWR7Ya2—)b B:I7IT4—F paite
s g # 3 | ENEAS 2:07.4 16-16-16-16| 36.9 | 67.4 | 11 468 | THIR (Ei#)
11| 73 F AL 56.0 (172 o) | R
L:wiNnNyghr7x B:TFaRH—7 # H5
5 —: 3 | ARHER 2:07.4 7-9-10-10 [37.8 | 67.9 | 10 | 440 | LERBZ (EiH)
5B 4|13 7L7FZ (B] 5.0 (76) o | W E7IL K757 5747
Z:arFady b BIRMIXIZAMLY ARETa—-T7—L
; = e 4 3 | FHEEZ 2:07.8 2-3-3-3 [ 39.0| 65.4 | 8 452 | BERM (RR)
160 15| T-VT A== 5.0 (2 1/2) o | PR
L RFAd—IL R BNIVLAR—L2 TS
S 4 3 | PHREX 2:07.9 4-3-4-4 | 38.9| 64.4 | 18 | 402 |&MESE (EH)
17 3 777723IxY) 54.0 (1/2) (-6) | REAE
ST RYAYA—=5 B2V /NZ—FH-) Y v & s
N P o, [© 3 | BERREEX = 13-12-10 = = 9 462 | S (ER)
x| 8118 2H/EIFR e 56.0 (shik) (4) | AREE
XD THANAN B:BHI/T4T7—X ERESHFB L2/ 77— L4
@ 21 L
£y 50.0-37.2
NA> AL | 12.6-11.1-12.8-13.2-13.1-13.0-12.8-12.6-12.3-12.3
® I—F—&EBIERL
|S=7r= 2(8,15) (3,5,6)-(4,9,13) (7,14,17) (10,16,18)-(1,11)-12
23—5+— |2,8(3,6,15)(5,9,13) (4,7,17) (14,18)10,16-(1,11)-12
== (x2,8)15(3,6) (5,9,13)17(4,7,18) (10,14,16)-(1,11)12
Mal=5r= (x2,8)15(3,6) (5,9,13)17(4,7) (10,14,16)-1-(12,11) 1§
[ N5
B Oj 14 960H 794K 14-16 800 & 7-8 980 &R 8-14-16 50,720/
B B 14 300H 8-14 12,770H B E 14-16 2,210 EE 14-16-8 231,150
16 160 8-16 4,490 B H 14-16 5,180M
8 2,780

ABICOVWTRDTEEERROODE. TR LIV,




